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Instructions to Candidates '
Write your name and Index Number in the spaces provided.

This paper consists of two sections.
Answer ALL questions in section A
Answer Question 16 and other THREE questions in section B.
All answers MUST be written in the spaces provided on this question paper.
["Section | Question | Maximum | Actual
Score Score
A 1-15 40
16 15
B 17 13
18 15
19 15
20 15
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SECTION A (40 MARKS)
ANSWER ALL QUESTIONS FROM THIS SECTION

1. Explain two ways in which computer can be used in the following areas. (2mks)

a) Entertainment industries

nCaticg . plaging Gompdie. GAMES. o R
) Recanly, Synthosizes, odit indl. dlishikula. puSi......... 275 =]

(l

b) Banking

@)..‘.C.}?m.c.@s.s.{xﬁ..?}....d@.%uféf ........................... (sion of eledome meney | i
en | V) le ~oChrds el customen acdsun
o Payrells.... C)ng“‘;)(h% .......... L (ustomen ¢

Man~ahe ’ﬁ’"ﬂﬂ((a’ Tn«'n-f@()h;n,( :
by wuse ef ATM b dispense ond dopesit money
2. Write the following abbreviations in full.

Y POt pwer - On- Self _TesT

...................................................................................................................

...............................................................................................................

3. Suggest how in future the computer may be made user-friendly for persons who are visually
(Imk)

challenged.

.........................................

((.([n.ﬁ Celew

........................................
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5. Odhiambo a computer student at Lenana High School had the following problems.(2mks)
a) Headache
b) Backache

nd give the likely solution for each problem.

Lreblem ] Likely Cause (P bR solulipn; |
wwj; Take gquent |

Give the likely cause of the above problems &

6. a) Highlight four factor to consider when choosing an input device. (2mks)

v Cos t il CO'“FNHE{ ldl/ i\);m jOM” Compvtfa’

.............................................

.............. ‘./. 'V‘.)’u’ée"’q_.%."'..“./.};ir’.t 6‘1— .'.f‘.h'.@.%\md&%l’ _ 2

............................................................................

..................................................................

...............................

............................................. oy ?\5“.";’5&;2% nj»ujul'*“"f;dﬂ S sle e

esessesessesgmescscscisscegeeesesscaccs eseessssssasssasnres  evacsssesassssssscacessosoc peoppoccreeceeentoctlyS

Qéf‘bff’e — @Vd’ﬁ\:nf rea)m{_( Wromged ™ A 91170 03 e.rm{ngz( CVC(U/'
ot frle - G el %&‘ﬂ’/'ﬂ&d i Pro@icing -
Refertni Fle - CovTrm dafr R4 0 nsed for Lok uf prrpeted
Bak wy file — Contiin Gopres e daka [infrrmaties e 2=
=z

i. 4.0 GB primary storage
ii. 500.0 GB SATT HDDC
iii.  Dual core processor
iv. 19°TFT VDU

ge 3 of 15

(%81 CamScanner



a) What do you understand by the term dual core computer?

...................................

.................

(2mks)

8. Define a multimedia system and state two components of a multimedia system.

..
..........................................

......................

..................................
.........

.......................... I/Cb/bVDdA/nfe\/\SVCTA n191¢(=W""" . .
tine that & able fo ply muttimed i Gnfeat” -

vSof .
9. a) State the type of ;‘;fes which have the following file extensions and give an example for each
(2mks)

i. .BAT _ 5551-5«»-\ £l — E4 Bactid, fie Lu({.f.hmprﬁfeﬁ (o4 fles,

.............................

........................................................................................

ixs - Datn le , A spradslueh £le o >

NBEK&E\U%‘#G{I&&’ ¥ o

.....................................................................................................................

.............................................

L

.......................................................................

.............................................................................................

............................................................................................................
..............................

10. a) While Wekesa is editing a workbook data item, a # VALUE! Error occurred. Identify the cause
of such error in the affected worksheet. (1mk)

curs when wrn 7}/—(16 ot- Qﬂ:leMQflt & Oferand.

e L L TR R TR ST T TR PR PRRY FETTTTREN § ) ST o AL LR EEETY EETT YT el
e . Tlisessnnnnaas
e
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b) Distinguish between an embedded chart and a chart sheet. (2mks)
Embeddod chadt- Ak fint 6 soved s fok 24, Y3
Wovk Shoet "o which (€ & Creat@ol oY K =1
et SRt~ i opovalh, shael, itk 18 Winckcons frak )
Conlans Ahe ch . ’X (=

.....
...............
............
--------------------------------------------------------

(2mks)

.......................
.........................

--------------------
-------------

.........
.......................................

E —hanking. ha enablel {’J'TLfi.IJ.l.l}'.h./!?’.'.?ﬂt..‘.”:f....&?I?ﬂ.“.?.QM?%fél..(?@.’.‘.’i‘" 3

..
................
....................................

.......................................................... t}t‘“f«)b\/&zé\’(ﬁwl)bl)k\tvl —"
(€T Enabled WGE of Soed el €3 Pl ik

i-ci G S WEX
12. Draw a flowchart that can be used to find the area of a semi-circle. (4mks)

13. Define the following terms as used in desktop publishing (2mks)
i.  Master page

.............................

......
.............
...........................................................................
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. QGutter  _ Vs |““»“ 5S¢

.........

(4mks)

. in ei it binary notation.
14 Use two complements to complete the value of Y in eight bi ry

96,04Y 0 = 124
1wi o 10 :_7\/’0,: /l‘f‘ H-‘-('[’IU

......................................

el gy T ] 4/Ceg.00100000:1% 10011111 V()
;’ ;:i( .................... L;’Lf ................ et seroetrrrE

2 :“CTZ}J‘ ...... ' ........... ‘ ........................................ :IO}OODDOL{O
ol I . | u‘/ ............ NI RES l.....\. .K V' ................................................................
213 10 ].1 2.3 Ll s = QLLLLLOO
IR - T 006

2 O e ‘ ........................ 9__.0 ..... ‘1 ...................................................................................

= 1poeoy — (111100, ‘a
BERRE o s s s L KT v s s h ikt s ] 60 85 oSSR MRS A LA F Vel e s s s vn s pures La-\er“f‘{.'b‘:t. ..... {fﬂ?‘br‘)'::

15. a) Natural disaster can cause loss of data and programs. State two ways of ensuring that data and
(2mks)

programs are not lost if a disaster strikes.
......... v Cotily replishs ol backips m soornt gl remefe

.{;4 . v,’(o-,/, o &I\f— ARCERELLE SIRTTRIRLITITIRLEOCR! EIRETITTORRI PRI

..........................................................................................................................................

v r“—\&u) anl ‘f’t”- " ()wfqrm:p"‘(‘ulaj .........
e e s

....................................................

v T(xi‘t Ao no 8—‘?/{' bored of ¢

'Tu Om do etk that f‘vf‘ewl’lalar"(-‘foui >y I\W“H" be

.i:’...../ .......................... R i ST SRR LAY ARPEe: Frh S b e
,.1/.‘..L..&%7).‘.....O.KC).({LLGL...,;(.ﬂ.t.@ffi...!?5&(&.(&5?;....;’2(9(;&?&.&..b...’ ......................

..........................................
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Section B (60 marks)
Answer Question 16 and any other three from this section,

16. a) State three functions of an assembler. (3mks)

L’.l(\“"‘/¢ h Sumbelic o ’W(ht;"‘ C“a‘(mn‘)mm“f)ﬁ) o th'er,t Codo,

a st all exreve nlc/hzd}g(/.

------------------------------------

. A ~ 4 o W seur e N L e e,
‘J)“"{“C"“('frfﬁ(jh#&e/(rmgﬂ Caddd Libvimies '@KD‘/'B

(3mks)
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d) Nekta company give a discount of 16% for purchase worth sh. 10, 000 and above; 10% for
purchase worth between sh. 5000 and 10,000 and none for purchase worth sh. 5,000 and beloy
Write a pseudo code for a program that would accept the value of a purchase, comp;xte the
discount, then display the new amount to be paid by a customer. (7mks)

o
b i
AT
 Te. r.co.ke|
g T
%
'-,
\!

Sessrcappecsenrenege sresesees R XA TR
i el veee e
veeene Ty
e

.............................

............. e
.................. f gg;ﬁﬁigwaﬁmwdﬁw(’“&
........................ | T
B 5 L L —
..................................... o ———————

..................................... Q01 i
.................. E'de IF..X.$.:.5..6-(-)-.O..--_.1T\:&.................................................----...-........
..................................... L
........................................ s

..........................
......................................
.............................

..............................

...........................

.................................

...............................................................................

............................

17. a) What is meant be each of the following terms as used in data security and controls. (2mks)
i.  Confidentiality

..................................................... 0V finni C Tt‘{-’\1
or” govexnmiont CRBld Rt B C{Ca’/ﬂcf}{j b‘zﬁrdz_ccfjs(u(ff‘ |
Mnm(m(}—r‘} ’:{P{QJ‘ ..............................................................................

ii.  Threats O CwmStrmes Mot lwwe e (k‘t_&\t‘at_
to case 1055 pe havm-

..........................
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b) Janca form four student was advised to partition a hard disk for her computer, Explain two
reasons that may have necessitated this. (4mks)

"F She  wanhb tv nstall two OP(W’d’C‘{‘ﬂ ({!71#’/""! ~

CEEEREEEEEETRS PRTER S [0 08 Prrioines
....................
bt i i T 1 11T T YT, L T

..............................................
........
................................

....................................................

~f-l;-; ..... (L.‘..(...,.,(_)'lc___‘(‘/ :—f‘t"{u _____ ) _____ ’,‘,“;‘,_(.o,t,i/.l.(\./.é.D..{}‘-f--n8.6.’2.(.)'6. ................
<)

..................

..............................................
..........
........

...............

..............

e SEFTINDFIITIOERENNIENI00DES D R R
UERESAFIRALGEF . . R
TR . .

A A AL AR L T RN esersnessresaneane Geessessrestatassttet st ettt Attt aa s
. sessenens . sesasnen
e ceeen

If one table in a database contains the fields: EMPLOYEE — ID, LAST —- NAME, FIRST — NAME
and HIRE - DATE and another contains the fields DEPARTMENT, EMPLOYEE - ID and
SALARY, it is possible to establish a relationship between the two tables.

i.  Name the type of such a database. (1mk)

ii.  What type of relationship can be established between the tables? (1mk)

............
.............................................
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...................
.........................................................
...........................................................

....................................
..........................................
......................................................

L SALE!!l SALE!! SALE!!

COMPUTER SALES

elcome to the exciting

10% OFF  QRAZEH

v Laptops

v Desktops
Allat 10% of v CD&DVD

............

..........................
.............................................

.. . - 7’,
1. Identify four formatting features used in the designing the publication. (2mks)
........... Beldin

------------

..........................................................

........................................

...........................

ACC@P{MC\“ ..... Cu.(..’..k.&{’

N {t{ 10 ‘FQ (\.‘E,i‘l‘g ,
o v TNV ol ol
(\\:\J'\ CP“"\ {-‘t‘ l(\\‘,lx.’tl G\e{

o aboe:

.............

......................

W
"
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% 0 Qive any TWO ways of representing a negative number in computer system.

.......................................
................
--------------------------------------------------------

.........................................................
.............................

see L LT R T R T
= R
; S EEEERNERT L Peaeeesesaearaese e el RSt e sty ,,,,
R L RN R NI R

i) The following eight-bit pattern represents the two's complement of an integer:
110001001. What is the decimal equivalent?

(2 marks)

b) Describe the following types of errors in data processing,

giving examples.

(3mks)
(i) Truncated

...............................
--------------------------------------------------------------------------------
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